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N— (A)EdE= (B)ANZHEE .
(kg) (kg)
< BFRLSBAFEE 3,113 73,300 4.25%
(PRI7) 0 28,500 0.00%
(Rx) 3,113 44,800 6.95%
EBERE 14,066 29,900 47.04%
(FRI7) 4,129 6,100 67.69%
(Rx) 9,937 23,800 41.75%
T 0 1,000 0.00%
BB IR — 2,900 —
=111 17,180 107,100 16.04%
JRE(B-A) 89.920 k>
JHIEE(A/B) 16.04 %
KB (30kgBlL)
X . (OFE= (HEEE: e
e EEE] (kq) (kg) SHIER
EBERE 11,239 33,000 34.06%
(FRI7) 3,004 6,100 49.24%
(Kx) 8,235 26,900 30.61%
DD 56 — —
BRI — 1,200 —
=111 11,295 34,200 33.03%
RE(D-C) 22,905 k>
JHIEER(C/D) 33.03 %
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